o \
a & N E H i Q;\ !
W\ s Parallel Circuits 5J }Q

. L2t S \' ' /L »J djﬂ/( Phe
\Q (¢ 8 LY

1 An electric circuit is composed of tw identicil‘,p sistors, Ry and R,, three voltmeters, V, V; and V,,
and one ammeter, A. Each of voltm /7 and V, v,- \;f?
indicates a potential difference V of 6 V. . )e \j\ = Y\
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The diagram to the right illustrates this circuit. ‘ @ :“ :’i }
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What is the potential difference indicated by voltmeter
Vin this circuit?
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il An electric circuit is illustrated below. The value of the resistance of the resistors is
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What is the value of the equivalent resistance of this circuit? A ) & 2
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3 | A circuit consisting of 3 resistors Ry, R, and Rj, connected in parallel is illustrated below. The power
supply is fixed at 24 V.




R ¥ : 3 ‘ ‘,:,’ :; ‘”Sﬂ ‘.)L,‘ (]

rr @ ] \
According to this diagram, what is the value of the resistance of resistor Rs? W "
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4 | Given the following circuit diagram in which three ammeters have been installed:

Ammeter A, reads 5.0 A. !
Ammeter A, reads 3.0 A. wﬂ)ﬁ

What is the reading of ammeter A3? L
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5 | Given the following circuit diagram in which three ammeters have been installed:




Ammeter A, reads 2.0 A, f t)

Ammeter A, reads 5.0 A. {\\Kﬁ
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What is the reading of ammeter A;? ;
A)  7.0A £
B) 50A ) T sl R
= . \__-.l... bt ‘:
&C)_____) 3.0A
D) 20A % A—2p = 3A

6 | The electric circuit shown below consists of an ammeter A, a power supply, and resistors R; and R,
connected in parallel.
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What is the current intensity (/) flowing through the ammeter? V !

‘ 7 | Two electric circuits each consists of a power supply and resistors Ry and R,.
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For each circuit, the following table éwe% the potential difference (voltage), V, across the terminals of
the power supply; the potential difference Vi, across resistor Ry; and the potential difference, V,,

potential difference (voltage) is 36 V?

across resistor R,.
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Draw a circuit diagram to illustrate each of these circuits. Give one reason to justify each of your
diagrams.
g | The following diagram shows a parallel circuit consisting of three resistors.
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What is the value of resistor R3? ¥ _
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o | The following circuit is connected to a source that can provide a current intensity of 18 A when the
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What is the current mtensity Iy flowing through resistor R;? (l/ J/ ,51 =
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A parallel circuit is illustrated below. \ & "i "t
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What is the equivalent resistance of this circuit? | = #_L, #+ -;1 - _‘31.
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Using an ammeter, you measured the current intensity (/) through each resistor. Here are the results:
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Ri 0.75
Ry 0.75 l ;
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Given this information, what is the current intensity provided by the power source L7

In the laboratory, you built an electric circuit consisting of a power source, two different light bulbs, L,
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and L,, and two ammeters, @ and @ The resistance of light bulb L; is twice the resistance of light
bulb Ly (R, = 2Ry). o0 %
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If ammeter @ reads 0.6 A, what is the reading given by ammeter®? _ P-_f_m A t\tU et “he T

An electrical circuit consists of a power source, two switches (S; and Sy) and two light bulbs (Ls and
Lo).

The following table shows what happens to both light bulbs:
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Switch Light Bulb
Sy S L4 Lo
open open out out
closed open bright out

Which of the following circuit diagrams illustrates the results shown in the table above?
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The fo%lownng electrlc mrclfnt conS|sts of a power source, two ammeters @and® , two resistors (R4 LIS 2
and R;) and a Etiistar D) Ammeter @ reads 3 A and ammeter @) reads 1A 228
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What is the potential difference (voltage), V,, across the terminals of resistor R,?

A) 15V C) 9V
B)) 6V D) 27V

The following circuit consists of a power source, two resistors (R; and R,) and an ammeter@. The
ammeter reads 2 A.
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